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QUESTION 1

Which property must be specified in maximo.properties? 

A. mxe.db.user 

B. mxe.rmi.port 

C. mxe.http.port 

D. mxe.UserLicenseKey 

Correct Answer: A 

 

QUESTION 2

An interaction can invoke a Web service and send data to it from an application. The interaction can then display data
returned from the Web service and save this data to the application database. 

An Interaction is created from which application? 

A. End Points 

B. Interactions 

C. Create Interactions 

D. Web Services Library 

Correct Answer: C 

 

QUESTION 3

Which classifications are valid? 

A. bearing/roller, 1041, AN421 

B. bearing, roller/1041, AN421 

C. bearing, roller, 1041/AN421 

D. bearing, roller, 1041, AN421 

Correct Answer: D 

 

QUESTION 4

What is one purpose of the security\\' select action item Authorize Group Reassignment? 
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A. To approve security changes 

B. To enable the saved changes to a security group 

C. To authorize users to be able to remove users from security groups 

D. To remove all security groups from a given user in order to add new security groups 

Correct Answer: C 

 

QUESTION 5

Which factor would normally be considered when developing a primary location hierarchy? 

A. The financial relationship between locations 

B. The functional relationship between locations 

C. The geophysical relationship between locations 

D. The organizational relationship between locations 

Correct Answer: C 

 

QUESTION 6

How many Security Groups can be defined? 

A. 1 

B. 256 

C. No limit 

D. As restricted by license 

Correct Answer: C 

 

QUESTION 7

Which statement is true about updating a Start Center? 

A. If a user has made changes to their Start Center, those updates are preserved when the Update Start Center action
is initiated 

B. When a user\\'s Start Center has been modified by the system administrator, the user receives a notification triggered
by a cron task prompting them to apply the updates. 

C. When a system administrator notifies a user that changes have been made to their Start Center template, users with
appropriate security privileges can update their Stan Center. 
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D. When a system administrator has completed changes to the Start Center, they can push the changes out to affected
users through Select Action > Update Associated Start Centers. 

Correct Answer: C 

 

QUESTION 8

A customer wants to create a New Start Center template for its technicians. Which object does the Start Center
template need to be associated with? 

A. Role 

B. User Group 

C. Person Group 

D. Security Group 

Correct Answer: D 

 

QUESTION 9

A Service Request workflow requires that a DATASET role use a relationship that selects the person from a Person
Group associated with the site on the service request, the Person Group (SITECOOR) has been created, and it
associates people to the Use For Site field. Which solution meets the criteria of this relationship? 

A. Parent Object is SR, Child Object is PERSON, Where Clause is PERSONGROUP = \\'SITECOOR\\' and
USEFORSITE = :SITEID 

B. Parent Object is PERSONGROUP, Child Object is PERSON, Where Clause is SR = \\'SITECOOR\\' and
USEFORSITE = :SITEID 

C. Parent Object is PERSON, Child Object is PERSONGROUPTEAM, Where Clause is SR = \\'SITECOOR\\' and
USEFORSITE = :SITEID 

D. Parent Object is SR, Child Object is PERSONGROUPTEAM, Where Clause is PERSONGROUP = \\'SITECOOR\\'
and USEFORSITE = :SITEID 

Correct Answer: D 

 

QUESTION 10

How are Tivoli process automation engine (Tpae) product languages installed? 

A. Tpae installation and LPInstall 

B. Tpae installation and TDToolkit 

C. TDToolkit and language pack installation 

D. Tpae installation and language pack installation 
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Correct Answer: B 

 

QUESTION 11

What is an advantage of using Role as a recipient in a communication template? 

A. Roles are reversible where other types of recipients are fixed to a given communication template. 

B. Communication templates always require a role to be used regardless of other assigned recipients even if it is only in
the bcc. 

C. A role is the correct recipient when used for a communication template instead of a person group which is used for
ownership. 

D. A person or e-mail address used as a recipient requires changes to the communication template when someone else
needs to receive it. 

Correct Answer: D 

 

QUESTION 12

Which method is used to validate the escalation being created? 

A. Choose the Select action for Validate. 

B. There is no validation of the escalation. 

C. Save the escalation. Validation is automatic. 

D. Click the Action button, which resembles a green check mark. 

Correct Answer: A 

 

QUESTION 13

Which data element is required to create a new site? 

A. Site ID 

B. Site contact 

C. Bill to contact 

D. Ship to contact 

Correct Answer: A 

 

QUESTION 14

Latest C2010-571 Dumps | C2010-571 Exam Questions | C2010-571 Braindumps                                5 / 6

https://www.passapply.com/c2010-571.html
https://www.passapply.com/c2010-571.html
https://www.passapply.com/c2010-571.html


https://www.passapply.com/c2010-571.html
2024 Latest passapply C2010-571 PDF and VCE dumps Download

Which two data elements are required to display user Start Centers? (Choose two.) 

A. User 

B. Portlet 

C. Template 

D. Person Group 

E. Security Group 

Correct Answer: CE 

 

QUESTION 15

Which variables are automatically available when creating an automation script? 

A. Implied 

B. Implicit 

C. Absolute 

D. Expressed 

Correct Answer: B 
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